
CALCOLO SUPERFICIE TERRITORIALE R6-3 

Figura 1 35,56 33,04 48,58 = 58,59 mt (semiperimetro)

√ 58,59 x ( 58,59 - 35,56 ) x ( 58,59 - 33,04 ) x ( 58,59 - 48,58 ) = 587,450 mq

Figura 2 48,58 56,20 17,9 = 61,34 mt (semiperimetro)

√ 61,34 x ( 61,34 - 48,58 ) x ( 61,34 - 56,2 ) x ( 61,34 - 17,9 ) = 418,046 mq

Figura 3 56,2 26,79 44,59 = 63,79 mt (semiperimetro)

√ 63,79 x ( 63,79 - 56,2 ) x ( 63,79 - 26,79 ) x ( 63,79 - 44,59 ) = 586,474 mq

Figura 4 44,59 37,25 51,46 = 66,65 mt (semiperimetro)

√ 66,65 x ( 66,65 - 44,59 ) x ( 66,65 - 37,25 ) x ( 66,65 - 51,46 ) = 810,318 mq

Figura 5 51,46 10,34 45,25 = 53,53 mt (semiperimetro)

√ 53,53 x ( 53,53 - 51,46 ) x ( 53,53 - 10,34 ) x ( 53,53 - 45,25 ) = 198,742 mq

Figura 6 37,59 24,74 45,25 = 53,79 mt (semiperimetro)

√ 53,79 x ( 53,79 - 37,59 ) x ( 53,79 - 24,74 ) x ( 53,79 - 45,25 ) = 464,954 mq

Figura 7 area semicircolare

= 64,540 mq

TOTALE 3130,52 mq


